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A0
i E | oK 7 I
f5) T —TH 817 1,710 844 866
5k T —TH 528 1,247 619 628
5k T =TH 751 1,604 831 773
%k /N % % 2,096 4,561 2,294 2,267
aPm —TH 1,223 2,483 1,201 1,282
F=Oalii| —TH 1,161 2,250 1,080 1,170
AFmM Z=TH 1,322 2,689 1,336 1,353
F=aalii| Lt E| 820 1,948 971 977
%  /NE % %k 4,526 9,370 4,588 4,782
FEyars —TH 984 1,965 931 1,034
FEyars —TH 872 1,728 829 899
Feyars =TH 1,664 2,957 1,392 1,565
Feyars T A 1,082 1,778 877 901
* sk /pNE % % 4,602 8,428 4,029 4,399
HEF)1] —TH 981 1,969 969 1,000
HEF) 1] —TH 680 1,613 817 796
HEF) 1] =TH 1,147 2,531 1,238 1,293
HEF) 1] T HE 932 1,988 995 993
* 3k /hE % 3,740 8,101 4,019 4,082
[EEsIl —TH 879 1,845 905 940
[EEsIl ~TH 726 1,604 750 854
[EEsIl =TH 367 834 380 454
PEER)I| T HE 1,388 2,912 1,455 1,457
%k hE % %k 3,360 7,195 3,490 3,705
* k 2EEF % % 42,121 82,475 40,031 | 42,444

. A0
T T ok 7 I
FORAHT  —TH 2,944 6,148 2,862 3,286
FIRARRT  —TH 723 1,490 713 777
FIRART  =TH 1,160 2,572 1,259 1,313
FOIRAHT YT H 2,122 3,661 1,595 2,066
*k  /NEE kok 6,949 13,871 6,429 7,442
HFm R —TH 1,124 2,017 994 1,023
WD IR —TH 982 1,982 978 1,004
WD IR =TH 1,459 2,862 1,396 1,466
HFn R T HE 672 1,453 714 739
HHFNIR T H 1,840 3,681 1,864 1,817
* %k pE k% 6,077 11,995 5,946 6,049
[ERIEN —TH 790 1,167 590 577
[ERSIEN —TH 508 972 442 530
*x /B k% 1,298 2,139 1,032 1,107
JEFR —TH 723 1,167 548 619
JLFNIR —TH 764 1,527 748 779
JLFNIR =TH 552 870 450 420
*k  /PNER ko 2,039 3,564 1,746 1,818
HOFNIR —TH 1,983 3,089 1,418 1,671
FOFNIR —TH 745 1,214 588 626
FOFNIR =TH 960 1,712 813 899
HOFNIR T HE 395 607 295 312
k% /pE k% 4,083 6,622 3,114 3,508
Ll —TH 578 1,103 577 526
Ll ~TH 753 1,565 804 761
Ll =TH 1,417 2,728 1,349 1,379
Ll WTH 603 1,233 614 619
%k pE k% 3,351 6,629 3,344 3,285




